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align.rb®align rec(s, t) & align(s, t) ZHI\>C, "GACGG" & "GATCGG" "GACGGA" & "GATCGGA"
"GACGGAT" & "GATCGGAA" "GACGGATT" & "GATCGGAAT" (35T k> TI, "GACGGATTA" & "GATCGGAATA",
"GACGGATTAG" & "GATCGGAATAG" 7% &) D7 74 ¥ X ¥ MTHET 2 IR 2 FEHI L Cll % Lo &
alignrec(s, t) WKL VKMZET 20T, WOXFHEZDPLTOES L TGRALAAPRYL
2259, 58, KEOEMIWEA EOREITH> THRVA, ROXIIKTIUIHETE 3,

irb(main) :001:0> load("align.rb")
=> true
irb(main) :002:0> require("benchmark")

=> true
irb(main) :003:0> Benchmark.measure{ align_rec("GACGG", "GATCGG") }.real
=> 0.00999999999999091 (S NDFATIRIAD

irb(main) :004:0> Benchmark.measure{ align_rec("GACGGATTAG", "GATCGGAATAG") }.real
=> 55.39

irb(main) :005:0> Benchmark.measure{ align("GACGGATTAG", "GATCGGAATAG") }.real
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"GACGG” "GATCGG” FEATIRH FEATIRF ]
"GACGGA” "GATCGGA” FEATIRF ] FEATIRF ]
?"GACGGAT” "GATCGGAA” FEATIRFE] FEATIRE ]
"GACGGATT” "GATCGGAAT” FEATIRF ] FATIR ]
"GACGGATTA” | "GATCGGAATA” FEATIR FATIRFH
"GACGGATTAG” | "GATCGGAATAG” FEATIRFR FEATIRFIH]
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